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H ABC & 39 a7t o]F= ozte] A7]E 62 & o
A Qe A2AREH ) [47]

cosf o #2? (&, 3 He A& AB fo A &) [33]
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29. Egr};ié‘?i Aol o7t 691 AE ABE AFLR 3 o]
4 g M2 e F 4 C, D7}

AB - AC=27, AB - AD=9, CD> 3

B AC 99 A= e £ 4 P, Qsl
Ag WEAT,

(7}) %Eﬁ—ﬁ: kBC

() Q?-Qﬁza

LADI}:: 98"
AE-BB= (A9, | AB I= 3
QA 2/H%7,

kS —2
A5=DE = SH-DE=FEC

Der3) B(33-3)
EIQST- (3F-%,-3), @b = [-n, ~3)
@F-@8 = a=1ffneg =3 Atfreizo
9Nz 3F*J—— e RSN N)
A== @ = P(x) Sn= T
P(25,5)  AB-DF =[5,y (25,m= &
N 2¥LT (s

30. F79] F4e] 0ola WAF Lozt 49 T7 9]

T 9ol A= gE A " A, B, C7t

2 9EAT WW ABC Slo] 914 e T 91e] A Dol
Aw ABCol Wlg 4e @2 Heh & ), 4 D7} &
24 WEANY

(7h F 24 OC, OD 7} M= 2ot}
(1) + A AD, OH 7} A= 24 o|t},

W DOC $j=e] AArgel Hels St
FEAL. (& He A 071 olytt)
[471]
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